**RECEIVED** 

JUL 2 9 2010

June 2009 Form Must Be Typed

## KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

### KCC WICHITA Form must be Signed All blanks must be Filled **WELL COMPLETION FORM** WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # 33235	API No. 15
Name: Chieftain Oil Co., Inc	Spot Description:
Address 1: PO Box 124	NE_SW_SE_NE Sec. 4 Twp. 34 S. R. 11 ☐ East  West
Address 2:	2,080 Feet from V North / South Line of Section
City: Kiowa State: KS Zip: 67070 +	980 Feet from   ✓ East /   West Line of Section
Contact Person: Ron Molz	Footages Calculated from Nearest Outside Section Corner:
Phone: ( )	□ NE □ NW □ SE □ SW
	County: Barber
CONTRACTOR: License # 33902	Lease Name: Boyd Well #: 2
Name: Hardt Drilling, LLC	Field Name: Roundup South
Wellsite Geologist: Arden Ratzlaff	Producing Formation: Mississippi
Purchaser: One Ok	Elevation: Ground: 1350 Kelly Bushing: 1360
Designate Type of Completion:	
✓ New Well Re-Entry Workover	Total Depth: 5106 Plug Back Total Depth: 5060
☑ oil ☐ wsw ☐ swd ☐ slow	Amount of Surface Pipe Set and Cemented at: 334 Feet
☑ Gas ☐ D&A ☐ ENHR ☐ SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ☑ No
☐ OG ☐ GSW ☐ Temp. Abd.	If yes, show depth set: Feet
CM (Coal Bed Methane)	If Alternate II completion, cement circulated from:
Cathodic Other (Core, Expl., etc.):	feet depth to: sx cmt.
If Workover/Re-entry: Old Well Info as follows:	
Operator:	Drilling Fluid Management Plan
Well Name:	(Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth:	Chloride content: 10000 ppm Fluid volume: 1500 bbls
☐ Deepening ☐ Re-perf. ☐ Conv. to ENHR ☐ Conv. to SWD ☐ Conv. to GSW	Dewatering method used: Haul Off
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Permit #:	Operator Name: Molz Oil Co., Inc.
Dual Completion Permit #:	Lease Name: Garner SWD License #: 6006
SWD Permit #:	Quarter NE Sec. 11 Twp. 33 S. R. 10 East West
ENHR Permit #:	County: Barber Permit #:
GSW Permit #:	County.
01/14/2010 01/24/2010 02/10/2010	
Spud Date or Date Reached TD Completion Date or Recompletion Date	
INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workover or completion.	In the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information quested in writing and submitted with the form (see rule 82-3-107 for confidenell report shall be attached with this form. ALL CEMENTING TICKETS MUST orm with all temporarily abandoned wells.
	WOO OFF H ONLY
AFFIDAVIT	KCC Office Use ONLY
I am the affiant and I hereby certify that all requirements of the statutes, rules and lations promulgated to regulate the oil and gas industry have been fully complie	d with
and the statements herein are complete and correct to the best of my knowled	ge. Date:  Confidential Release Date:
	Wireline Log Received
$\mathcal{K}_{\mathbf{A}} \propto \mathcal{N}_{\mathbf{B}}$	V Goologist Report Received

Date: 2010- July 28

ALT XI II III Approved by:

#### Side Two

Operator Name: Ch	<u>ieftain Oil Co., In</u>	C		Lease	Name: _	Boyd		Well #: _2_			
Sec. 4 Twp. 34	s. R. <u>11</u>	East	✓ West	County	/: <u>Barb</u>	er					
INSTRUCTIONS: Shiftime tool open and clorecovery, and flow rate line Logs surveyed.	osed, flowing and shu les if gas to surface to	ut-in press est, along	ures, whether s with final chart(	shut-in pres	sure rea	ched static level	, hydrostatic pr	essures, bottom h	nole temp	perature, fluid	
Drill Stem Tests Taker	n	Y	es ✓ No		<b>V</b> L	og Formatio	on (Top), Depth	and Datum		Sample	
(Attach Additional Samples Sent to Geo	•	VY	′es □No		Name			Top		Datum 2222	
·	nogical Guivey	□ Y			Heebr		RECEIVE		-		
Cores Taken Electric Log Run		✓ Y	_		Base	Kansas City	JUL 2 9	4318 วก <b>เ</b> ก		2958	
Electric Log Submitte	d Electronically		es 🔽 No		Chero	kee	JUL Z 3.	ZU <b>4</b> 474	-3	3114	
(If no, Submit Cop					Missis	sippian 🗸	امرالات	4512	-3	3152	
List All E. Logs Run:					Viola	I/I	CC WICH	714633	-3	3473	
Gamma Ray Duel Induction	h.				Simps	son		4933	-3	3573	
Compensated Neutron Densit Geological Sonic Bond	ıy					Depth		5106	-3	3745	
Sonic Bond			CACINO	RECORD	V N						
		Rep				ermediate, produc	tion, etc.				
Purpose of String	Size Hole Drilled	Si	ze Casing et (In O.D.)	Wei	ght	Setting Depth	Type of Cement	# Sacks Used		and Percent Additives	
Surface	10-3/4	8-5/8	et (III O.D.)	24#	714	334	60/40 Poz	350	2% Sa		
		5.470			- Agains	5106	Common	Common 200		2% Salt Gas Block	
Production	7-7/8	5-1/2		15.5#		5106	Common	200	2 /0 Ja	I Cas block	
L		<u> </u>	ADDITIONAL	CEMENT	NC / SOI	IEEZE DECORD					
Purpose:	Depth	1 -				JEEZE RECORD		nd Percent Additives			
Purpose.  Perforate	Top Bottom	Туре	ype of Cement # Sacks			Seu Type and Tologik Addition					
Protect Casing											
Plug Back TD Plug Off Zone											
Shots Per Foot	PERFORAT Specify	ION RECOI	RD - Bridge Pluç Each Interval Pe	gs Set/Type rforated			acture, Shot, Cen	nent Squeeze Recor	ď	Depth	
4	4492-96 4510-					1000 Gal 7-	1/2% Acid			4492-4540	
						1500 Gal 15	5% Acid			4492-4540	
						Frac 368000	0# Sand & 22	000 BBLS Slick	Water	4492-4540	
TUBING RECORD:	Size:	Set At		Packer A	At:	Liner Run:					
1	2-7/8	4575	•				Yes 🗸	No			
Date of First, Resumed 08/01/2010	Production, SWD or El	NHR.	Producing Met	thod:  Pumpir	ng 🗌	Gas Lift 0	Other (Explain) _				
Estimated Production Per 24 Hours	Oil 25 bbls	Bbls.	Gas 200	Mcf	Wat	er E	Bbls.	Gas-Oil Ratio		Gravity	
	1 20 0010		1	J							
DISPOSITI	ION OF GAS:			METHOD OF	COMPL	ETION:		PRODUCTION	ON INTER	:VAL:	
Vented ✓ Solo	d Used on Lease		Open Hole [	✓ Perf.			mmingled				
	ıbmit ACO-18.)		Other (Specify) _		(Submit	ACO-0) (SUL	bmit ACO-4)				



PAGE	Cy ) NO	INVOICE DATE
1 of 1	1000719	01/20/2010

INVOICE NUMBER

1718 - 90225027

B CHIEFTAIN OIL COMPANY 1 PO Box: 124
L KIOWA
KS US 67070
T O ATTN:

LEASE NAME

Boyd

LOCATION

COUNTY

Barber · KS

STATE

JOB DESCRIPTION

Cement-New Well Casing/Pi

JOB CONTACT

					<u></u>	
JOB #	EQUIPMENT #	PURCHASE	ORDER NO.		TERMS	DUE DATE
40141349	19905				Net - 30 days	02/19/2010
	<del> </del>		QTY	U of M	UNIT PRICE	INVOICE AMOUNT
For Service Dates	: 01/15/2010 to 0	1/15/2010		11	RĘCEIVED	
0040141349						
					JUL 2 9 2010	
171801264A Cem	ent-New Well Casing/Pi	01/15/2010	•	L L	CC WICHITA	
Cement			350.00		5.40	1,890.00
60/40 POZ				-		
Additives Cello-flake			88.00	ĒΑ	1.67	146.52
Calcium Chloride			903.00	EA	0.47	426.67
Mileage			90.00		3.15	283.5
Heavy Equipment M	1ileage					
Mileage			677.00	МІ	0.72	487.4
Proppant and Bulk D	Delivery Charge					
Mileage	Sandar Chara	ļ	350.00	мі	0.63	220.50
Blending & Mixing S Pickup	service Charge		45.00	HR	1.91	86.00
•	e-Pickups, Vans & Cars		43.00	''''	1.5	00.00
Pump Charge-Hourl			1.00	HR	450.00	450.00
Depth Charge; 0-50	00'					
Supervisor			1.00	HR	78.75	78.75
Service Supervisor						
					·	
					-	
			l			
				ŀ		
		1	Į	i		
		1				
					I	

PLEASE REMIT TO:

SEND OTHER CORRESPONDENCE TO:

DALLAS, TX 75284-1903

BASIC ENERGY SERVICES, LP
PO BOX 841903
PO BOX 10460 MIDLAND, TX 79702

SUB TOTAL TAX

155.18

INVOICE TOTAL 4,224.6



10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124 Phone 620-672-1201

# FIELD SERVICE TICKET 1718 1264 A

PRESSU	JRE PUMP	ING & WIRELINE 4.	-349	5-11	W		DATE	TICKET NO.		
DATE OF   -   5-	Ó 6	ISTRICT Pratt.	ITan	Sas	NEW D	OLD □	PROD   INJ	□wdw		STOMER DER NO.:
CUSTOMER Chie	fta	1	ogny.	Inc.	LEASE P	loyd			. <u>.</u>	WELL NO. $2$
ADDRESS				١,	COUNTY	Barl	jer	STATE	Kan	595
CITY	,	STATE			SERVICE C	REWC.	Messich;	M.Matta	1:M.	McGraw
AUTHORIZED BY					JOB TYPE:	C.N.	WCon	ductor		
EQUIPMENT#	HRS	EQUIPMENT#	HRS	EQL	JIPMENT#	HRS	TRUCK CALI		DATE 15-10	TIME 12:60
19866	1	<u> </u>				<u> </u>	ARRIVED AT			<b>AND</b> 1:30
10000 10000	7	•	-			-	START OPE	ROITÁF	7	99 a:30
19,903-19,905	-						FINISH OPE	RATION	7	<b>989</b> 3:30
19,826-21,010	1		1				RELEASED	1-15	10	AND 4:00
Control of the state of the first			1	<u> </u>			MILES FROM	STATION TO	WELL	43
1	CONT	HACT CONDITIONS: (This								

The undersigned is authorized to execute this contract as an agent of the customer. As such, the undersigned agrees and acknowledges that this contract for services, materials, products, and/or supplies includes all of and only those terms and conditions appearing on the front and back of this document. No additional or substitute terms and/or conditions shall become a part of this contract without the written consent of an officer of Basic Energy Services LP.

(WELL OWNER, OPERATOR, CONTRACTOR OR AGENT) ITEM/PRICE REF. NO. **\$ AMOUNT** MATERIAL, EQUIPMENT AND SERVICES USED UNIT QUANTITY **UNIT PRICE** 350 88 60 RECEIVED 903 15 cium Chloride JUL 2 9 2019 630 90 Mileage 00 083 Mileagie M Blending and Mixing Service Service Supervisor 50 sh 00 64 00 e 9 SUB TOTAL CHEMICAL / ACID DATA: **SERVICE & EQUIPMENT** %TAX ON \$ %TAX ON \$ MATERIALS TOTAL

SERVICE REPRESENTAT	No.	DI	M	0 mint
	VIJUNGO.	<u> </u>	ш	Jeney .

THE ABOVE MATERIAL AND SERVICE
ORDERED BY CUSTOMER AND RECEIVED BY:

(WELL OWNER OPERATOR CONTRACTOR OR AGENT)



# TREATMENT REPORT

	07 ~		,													
ensiomer	tain (	DilCo	om pa	nv.	ese No	) <u>.</u>					Date	_ /		7-/	1	
Lease B	oyd			- TVV	/ell# ~	<u>L</u>	To	<del>3/1</del> /	<del>-                                    </del>					<u> </u>	<del>[</del>	<u> </u>
Field Orden	# / Statio	119			595	<u> </u>	Casin	78		'334Fe	e	Bai	r be	r	Ho	insas
Type Job	.N.W.	<u>-Con</u>	<u>duct</u>	or					Formation			Lę	gai De	scription_	1 W	<u>/</u>
	E DATA		RFORA	TINE	DATA	ner	POOR	D U	ISED		TF	REATME	ENT F	RESUME		
Casing Size	4 BUDING 9	Shots	/Ft	3	50	ga	cks	6	0/40	Pozi	PATE	PRE89	Ge	ISIP		
Depth 4 F.	- Depth	From		τ₀3	3Cc	1 6	IUM (	Ch	loride	, Max 3 5	Lb./	Str.C	ell	F Min.	2	
Votume 4	3 Volume	From		То	4.71	D.	1Ga	l.,	5.716	Min/5/7	أملو	25c	v. F	- 10 Min 5	۲	**************************************
4 Presp.	S, Max Pres	From		То		Mes.	arc	,		Avg				15 Min.		
Well Connection				То						HHP Used				Annulus P	ressur	e 
3379 e		epth From		То			1sh 5	BL	, Fres	Gha yolum				Total Load		
Customer Re	presentative	Adell	1ard	t	Statio	n Mar	nager Dc	<u> </u>	id Sco	#	Freate	aveno	ce f	P. Me	55 <u> </u>	tr
Service Units	19.866	19,90	3 19,9	05	19.8	26	21.01	0								
Driver Names M	essich	Ma	Hal		M.	Mc	Gran	V			<u> </u>					
Time A, /	Casing Pressure	Tubing Pressure	Bbl	s. Pumj	oed		Rate				,	Service Lo	og			
1:30				rucl		nl	ocat	io	n and h	oldso	ifet.	y Me	eti	ng,		
	Hardt	Drilli	ng r	unni	ng	8	Soint	5	new 48	3Lb./Ft	.13	18°Ca	si no	<u> úpon</u>	arı	ival.
2:30			Íc a	Bir	gilr	1 W	ell.C	ir	· ulate	for 5	minu	ites.				
2:40	300						5		Starl	Fres	h Wa	ut er	Ple	-Flust	١	777-172-102-10-10
				10			<u>5</u>		Start	nixina	350	05401	T56	0/40	P02	Cement
2:55	200		ļ	88			<u>3</u>		Start	resh	Wate	er Di	ispl	a (e n) e	nt.	
3:20	400			39					510p	PUMPI	ny. 5	hut i	n'w	ell.		<del></del>
									Circul	ated	_, 7 Sac	ITSCO	Mer	1101	her	oit.
									Wash	JD DUM	ptr	uct.				
4:00									Wash Tob Thank Claren	omple	ite.					
		· · · · · · · · · · · · · · · · · · ·							Thank	TYOU.						
		,							Clasen	ce, Mi	Ite.	Milto	<u>e</u>			
			<u> </u>							, 	, 		·			
							···	$\perp$			·····					
								$\perp$				R	ECE	IVED		
								_		<u> </u>	· · · · · · · · · · · · · · · · · · ·	<del></del>	JL 2	9 2010		
							<del></del>	$\dashv$				KCO	C WI	CHITA		
		<u> " ·</u>					<del></del>	$\top$			<del> </del>	- 100'	- * * * *	<u> </u>	<del></del>	
					$\neg +$	<del></del>		+								
			<u> </u>				· · · · · · · · · · · · · · · · · · ·	$\top$								
								$\dagger$								



PAGE	C. J. NO	INVOICE DATE
1 of 2	1000719	01/29/2010
•	INVOICE NUM	IBER

1718 - 90233666

B CHIEFTAIN OIL COMPANY
PO Box: 124
KIOWA
KS US 67070
ATTN:

LEASE NAME

LOCATION

COUNTY STATE

2

Barber

Boyd

JOB DESCRIPTION

JOB CONTACT

Cement-New Well Casing/Pi

JOB #	EQUIPMENT #	PURCHASE	PURCHASE ORDER NO.			DUE DATE
40144816	19842				Net - 30 days	02/28/2010
			QTY	U of M	UNIT PRICE	INVOICE AMOUNT
For Service Dates	: 01/25/2010 to 01	1/25/2010				
					REC	EIVED
0040144816					n n	2 9 2010
171801273A Cem	ent-New Well Casing/Pi	01/25/2010			302	£ 3 2010
Longstring					KCC V	VICHITA
Cement			200.00	EA	9.52	
AA2 Cement			200.00	EA	9.52	1,304.00
Cement			30.00	EA	6.72	201.60
60/40 POZ			00.00	.,,	0.72	201.00
Additives			38.00	EΑ	2.24	85.12 ·
De-foamer(Powder)	)					
Additives			1,038.00	EΑ	0.28	290.64
Salt(Fine)						
Additives			188.00	EA	2.88	542.19 <sup>-</sup>
Gas-Blok						
Additives			149.00	EA	4.20	625.80
FLA-322			:			
Additives			1,000.00	EA	0.38	375.20 <sup>-</sup>
Gilsonite						
Additives			5.00	EA	19.60	98.00
CS-1L, KCL Substit	ute					
Additives			500.00	EA	0.48	240.80
Mud Flush						
Additives			500.00	EA	0.86	428.40
Super Flush II						
Cement Float Equip			1.00	EA	224.00	224.00
Latch Down Plug &			4.00	- A	201.00	201.6
Cement Float Equip			1.00	EA	201.60	201.60
Auto Fill Float Shoe			7.00	E A	61.60	431.20
Cement Float Equip			7.00	EA	01.00	431.20
Turbolizer, 5 1/2"(B Cement Float Equip		İ	2.00	EA	162.40	324.80
5 1/2" Basket(Blue)			2.00	-	102.40	024.00
Mileage			90.00	мі	3.92	352.80
Heavy Equipment M	ileage		55.59		3.32	332.00
,		ļ				



I PO Box: 124

L KIOWA

KS US

B CHIEFTAIN OIL COMPANY

67070

PAGE

2 of 2

INVOICE DATE

01/29/2010

1000719 INVOICE NUMBER

## 1718 - 90233666

LEASE NAME

Boyd 2

LOCATION

COUNTY

Barber

STATE

KS

JOB DESCRIPTION Cement-New Well Casing/Pi

JOB CONTACT

JOB #	EQUIPMENT #	PURCHASE	ORDER NO.		TERMS	DUE DATE
40144816	19842				Net - 30 days	02/28/2010
	<u> </u>		QTY	U of M	UNIT PRICE	INVOICE AMOU
1ileage			482.00		0.90	43
roppant and Bulk	Delivery Charge				0.70	10
lileage lending & Mixing	Sarvica Charga		230.00	Mi	0.78	18
ickup	Service Charge	1	45.00	HR	2.38	10
	ge-Pickups, Vans & Cars					
ump Charge-Hou		1	1.00	·HR	1,612.80	1,61
epth Charge; 500		1				
ementing Head w			1.00	EA	140.00	14
ug Container Util	ization Charge			un		
upervisor ervice Supervisor		-	1.00	HR	98.00	9
					Ę	PECENTE
						RECEIVED
					j	JL 2 9 2010
				1		1 2010
					KC	WICHITA
		i i	ì	I	l l	

PLEASE REMIT TO:

SEND OTHER CORRESPONDENCE TO:

BASIC ENERGY SERVICES, LP
PO BOX 841903 PO BOX 10460
DALLAS, TX 75284-1903 MIDLAND, TX 79702

SUB TOTAL TAX 8,896.24 301.88

INVOICE TOTAL

9,198.12



10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124

FIELD SEI	RVICE TICKET	
1718	1273	A

PRESSU			-34	5-11	W		DAT	Έ	TICKET NO		
DATE OF 1-25-		DISTRICT Pratt	trans	595	MERT IS	OLD	PROD	□INJ	□WDW	□SH	STOMER DER NO.:
CUSTOMER hief	tain	OilCompar	iy, In	C.	LEASE	Boyd					WELL NO. 2
ADDŘESŠ		/			COUNTY	Barb	er		STATE	Kar	1995
CITY	1	STATE			SERVICE C	REWC.	1855	ich:	M. Matt	al: E	.Mc Graw
AUTHORIZED BY	In Dec	on the specific production of the second sec			JOB TYPE:	C.N.W	,- L	ong S	trina		
THE EQUIPMENT# 1990			HRS	EQU	IIPMENT#	HAS	TRUC	K CÁLLI	ED 7	- 24.5	AM STIME
19,866	<b>37.5</b>	entropy	-				ÅRRIN	/ED ÀT .	JOB	- 25-10	
19.889-19.842	.75		-				STAR	T OPER	ATION	· (	8:00
11,001-11,092	1 2					1[	FINISI	H OPER	ATION	)	9:45
19.831-19.862	.75						RELE	ASED	1-8	15-10	9:30
Andrew State of the State of th				:			MILES	FROM	STATION TO	) WELL	45
The Undersigned is autho	rized to e	HÀCT CONDITIONS: (Thi	agent of the c	ustomer. As	such, the unde	ersigned agre	es and	acknowled	dges that this (	contract fo	r services, materials

products, and/or supplies includes all of and only those terms and conditions appearing on the front and back of this document. No additional or substitute terms and/or conditions shall become a part of this contract without the written consent of an officer of Basic Energy Services LP. (WELL OWNER, OPERATOR, CONTRACTOR OR AGENT) ITEMPRICE REF. NO. : \$ AMOUNT MATERIAL, EQUIPMENT AND SERVICES USED UNIT QUANTITY **UNIT PRICE** 400 00 200 Cement O Poz Cement 60 <u> 30</u> 00 De toamer 38 RECEIVED 115 188 þ 20 sonite 000 KCC WICHITA Ρ Gal 500 430 Gal 500 Plugand Baffle, 51/2" 400 ea Shoe, 51/2 illFloat 360 lea 7ea 70

	1'		
	1 1		1
SUB T	OTAL	DLS	
%TAX ON \$			
%TAX ON \$	1	· · · · · · · · · · · · · · · · · · ·	
Т	OTAL		
Suc C.	Adeli	het	
	%TAX ON \$ %TAX ON \$	%TAX ON \$ TOTAL	%TAX ON \$ %TAX ON \$ TOTAL

FIELD SERVICE ORDER NO.

OLOUD LITHO - Ablene, TX , 。

(WELL OWNER OPERATOR CONTRACTOR OR AGENT)

ENERGY SERVICES
Phone 620-672-1201

FIELD SERVICE ORDER NO.

FIELD SERVICE TICKET

1718 **1274** A

Continuation

PRESSURE PUMPING & WIRELINE 4-345-1	1 14/				-	91101	
AL DATE OF ALL MARKETS PARTY OF THE PARTY OF	I NEW/	01.5	DATE	TICKET NO	بل.	273	
CUSTOMER NICTON OIL COMPANY	NEW D	WELL.	PROD [			CUSTOME ORDER NO	R D.:
ADDRESS AND ADDRES	LEASE	oyo	1			WELL	NO. 2
The state of the s	COUNTY	Park	per	STATI	Ira	ansa s	
CITY aduluted to STATE	SERVICE CF	REWC,	Messic	h:M.Matt	<u>ا اه</u>	$FM_{\bullet}$	
AUTHORIZED BY	JOB TYPE:	T.N.	11-1-	ngstring	<u>41 · </u>	<u></u>	zrau
	QUIPMENT#	HRS	TRUCK	CALLED	DA	TE AM	TIME
State and the first the state of the state o			ARRIVED			AM PM	<del></del>
				PERATION		AM PM	
			FINISH O	PERATION		AM PM	·
			RELEASE	D		AM PM	
CONTRACT CONDITIONS: (This contract must be signed in authorized to execute this contract as an agent of the customer. A			1	OM STATION TO	) WEL	L	
products, and/or supplies includes all of and only those terms and conditions appearing or become a part of this contract without the written consent of an officer of Basic Energy Se	ervices LP.		SIGNED:	VNER, OPERATOR			
REF. NO. MATERIAL, EQUIPMENT AND SERVICES US	ED	UNIT	QUANTIT			\$ AMO	
Elol Heavy Equipment Mileage		mi	90		TA	\$ AIVIO	<del>-   -</del>
5 100 Bult Delivery		t n	482		\$	77	) bo
- I sicip mileage		Mi_	4.5		\$	191	2
CE 240 Blending and Mixing Service		5/1	230		-	700	
3003 Service Supervisor			10	1	\$	13d	100
CE 206 Cement Pump: 5,001 Feet To 6,000	) Feet		lea		\$	2.88	00 C
Container			lea		\$	250	
West translated that west action is a second						····	
The same where the control of the same of						<del></del>	
				ECEIVED			
					$\vdash$		<del> </del> -
A transfer of the second of th			J	UL 2 9 2010			+-
			KC	C WICHIT	4		
			<del></del>		-		-
Of the same						<del></del>	+-1
CHEMICAL / ACID DATA:				SUB TO	A4		$\dagger \exists$
) (35.1 mg/s)   SERV	ICE & EQUIPME	NT	9/ TAY	/ ON #	\$ 3	3,896	24
MATE				ON \$		DL5	$\dashv$
1.4				ТОТ	AL		
	·						
RVICE _ \ THE AROVE MATERIA	I AND G	<del></del>	7				
PRESENTATIVE PROPERTY OF THE ABOVE MATERIA ORDERED BY CUSTO	L AND SERVICE	IVED B	Y: ~ .	#///	1.00	/_	

SIC services, L.P.

RECEIVED

JUL 2 9 2010

### TREATMENT REPORT

KCC WICHITA Leage No. County state Mansas Field Order\_# ratt. Mansas Formation ongstring PERFORATING TREATMENT RESUME PIPE DATA Shots/Ft mobing Size From То From Poz + HHPIUsed Pat Annulus Pressure From Teta/Load From Customer Representative Freater P. David Scott Messich 19.842 19,889 19.831 Service Units SSICH Time A Bbls, Pumped ocation and hold safety meet ina 1:00 2:15 start torun Auto Fill Float redinto callar anda Ran a Blastret above collars # Jand #9. Installed Turbolizerson Collars #4.5.12, 13 14.16017 6:30 Casing in well. Circulate for 1 300 7:57 6 300 350 Water Spacer, 8:07 AA-2 cement. 400 Start mixing 200 sacks Stop pumping. Shut in well. Wash pump and lines. -O-Release Latch Down Plug. Open Well 8:20 Start 28 Claynax Displacement. 100 Start Fresh water Displacement. Start to lift coment. Pludoun 000 Pressure up. 500 Release pressure, Float Shoehe Plug Rat Hole -0-Washup pumptich. Job Complete.

Thank You. Clarence, Mitte, Edward

10244 NE Hiway 61 • P.O. Box 8613 • Pratt, KS 67124-8613 • (620) 672-1201 • Fax (620) 672-5383

Taylor Printing, Inc. 620-672-3656